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1 (a) Write down

(i) asquare number between 30 and 40,

(i) the number three million, three hundred and thirty in figures,

(iii) the next cube number after 64,

(iv) the five factors of 16,

(v) acommon multiple of 6 and 8,

(vi) a prime number between 20 and 30.

(b) Write 567.4892 correct to

(i) the nearest ten,

(i) 2 decimal places.

(¢) Complete these calculations.

() 4+6+2= oo
(i) (8=20)% oo, =4
(iii) 64325 coorron. = 64.32
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(d) Simplify.
Sa+4b—2a—bh+3a—-2b

................................................. [2]
(e) Multiply out the brackets.
H Skx-4)
................................................. [1]
(i) x(x*+3)
................................................ [2]
(f) Factorise completely.
8x% —4x
................................................. [2]
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2 (a) Here are five number cards.

1 2 7

Place two cards side-by-side to show

() atwo-digit multiple of 7,

(i) a two-digit square number,

{

(iii)  a two-digit cube number,
(iv) atwo-digit prime number.
(b) V2 5.85 4.12 n
Write down all the numbers in this list that are irrational.
(c) Put one pair of brackets into this calculation to make it correct.
7 x5 -2+ 3 =42

0 /32737500
i)

Elob: +§74 &
b % »m.dl'(';! i S, ...V,'-"'r'.ﬂ!!.cnm
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3 (a) x=3m-k
Find the value of

(i) xwhenm=2and k=-4,

Answer(@)(i) ... (2]
(ii) m whenx=19 and k= 5.
Answer(@)(il) ,.......cevernrrriniirsiinisenn (3]
(b) Expand the brackets.
g(f-g)
Answer(b) ..o (2]
(c) Factorise completely.
181 — 12hj
Answer(c) —.....ooirinieineisnisnsinenns (2]
(d) Make m the subject of the formula.
t=8m+15
Answer(d) m = .. (2]
(e) Solve the equation.
pt+3=3p-9)
Answer(e)p = .....ccoorieinreinienrieenns (3]
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4 (a) Solve the following equations.

() 6x—2=2x+8

Answer(a)(1) X = ..oceeeeeeeeereresees s (2]
(i) 42y —3)=24

Answer(a)(il) Y =, .ovvsemreeessessesensessessssassans (3]

(b) Solve the simultaneous equations.
Sx + 9y =-21
12x — 2y =44
Answer(D) X = .. .coverrerenrrseresesssesaes
Emlchynie T o Y= reeeseessssssssssnssns [4]
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5 (a) A=-;-(a+b)h

Work out the value of A when a=9.6,b=124and h=17.5.

(b) (i) Expand x(x’ - 3y).

(i) Expand and simplify 42w —3) + 5(w - 2).

(¢) A quadrilateral has sides x, 2x, y and 3y.

(i) Write down and simplify a formula for the perimeter, p, of the quadrilateral.
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(i) Make y the subject of the formula in part (¢)(i). For

Examiner's
Use

Answer(c)(il) Y= .o sssesessnessenns (2]
(d) Joseph is 3 times as old as Amy.
In 5 years time Joseph will be 2 times as old as Amy.
(i) Amy is now » years old.
Write down an equation in » connecting the ages of Joseph and Amy in 5 years time.
Answer(d)(1) ...oosrmseeersermeesms e e sessssssssnes (2]
(i) Solve the equation to find ».
Answer(@)(i) n=""_ ...cccoomrrrrreenne (3]
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6 (a) Write down a factor of 24 that is a square number.

(b) Write down the cube number between 100 and 200.

(c) Find

(i) 1225,

Gi) 173,

(i) 472

d s= —2l-at2

Find the value of s whena=0.7andr=42 .

(e) Simplify.

i o
(i) 5> xp?

(iii) g_;
C
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v 7 (a) Simplify the following expressions.

" (i) 3m—Sm+6m

Answer(a)(i)

(i) Se—4f-3e-6f

Answer(a)(ii)
(b) s=u+at

(i) Calculate the value of s when u =27, a=-2 and r = 15.

Answer(b)(i) s =

(i) Make / the subject of the formula s =u+ ar.

Answer(b)(ii) t =
(¢) Solve the simultaneous equations.

S5x + 2y =4
4x -y

i
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8 (a () 4=4mw?

Work out the value of 4 when r=5.6.

) Give your answer correct to 1 decimal place.
Answer(@) (1) A = ..oooeeeeieeeieeeeeeeeeeeee [2]
(ii) Simplify the expression.
2a—b+5a-3b
ANSWer(@)(11) cvoveeeiieiiiieeieeie e [2]
(iii) Solve the equation.
- i - 6
3
Answer(@)(I11) X = ..coovevveeeiie e [1]
(iv) Solve the equation.
x-2=9
AnSWer(@)(IV) X = oo [1]
(b) Solve the simultaneous equations.
You must show all your working.
2x+3y=4
3x—4y=23
ANSWEF(D) X = oo
Y T et [4]
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9 (a) p=4r—73t

(i) Calculate the value of p when » =5 and ¢ = —6,

PP ccvvuvsnniiasiicisnanen s vpmmnnens suonsesssessisss [2]
(ii) Make r the subject of the formula p=4r-31.
P e [2]
(b) Expand the brackets and simplify.
483x—=2)—3(x—35)

.................................................. 2]

(¢) Factorise completely.
12ab - 20a?
.................................................. [2]
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"0 (a) Solve.

i) 29-x=18
ARSWer(@)(1) X = wooveiiieeeiee e [1]
(i) 4Qy+7)=164
Answer(@)(11) ¥ = oot [3]
(b) Simplify.
6x* x 8x
AnSwWer(D) .....ccccovivviniiiicc [2]
(¢) Find
(i) V8L,
ARSWEF(C)(1) covevvieiiieieeeec e [1]
@) 7°,
ARSWer(C)(11) covvvviiiiiiii e [1]
(iii) 8°.
ANSwer(C)(1) v [1]
(d) (i) Write 6751 correct to the nearest hundred.
AnSWer(d)(1) «oovvvevcinieeiiieer e [1]
(ii) Write 0.25 as a fraction.
AnSWer(d)(11) ..c.oovevvivrieieieeieee e [1]
(iili) Write 0.06 as a percentage.
Answer(d)(11) oo % [1]
(iv) Write 687000000 in standard form.
AnSWer(d)(IV) oo [1]
© UCLES 2015 0580/33/0/N/15




1 1 (a) Factorise completely.
154 - Sab

Answer(a)

(b) Simplify.
327 X'y

Answer(b)

(¢) Multiply out the brackets and simplify.
3(x—=2)—-4(2x-3)

Answer(c)

(d) Solve the equation.
8x +9=3(x+8)

Answer(d) x =

PRRANG

Qe
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22 Solve.

(a) 4x=10

(b) 5(x+8)=75

(¢) 37+3"=9
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13 (a) Expand and simplify. For
Examiner's
2x-3)+3(2x +4) Use
ANSWer(Q) ......ovrierrseiressessssrnsessesssessnsssseas (3]
(b) Factorise completely.
3x* — 9xy
ANSWEr(D) . ...eoveveriieieieris e (2]
(¢) Solve the equation.
3x+5=x+12
Answer(c) X = ......cverrmmeencensms s sssasansens (2]
(d) Ifa=3and b =-2 find the value of 2a—3b.
ARSWEr(d) . ....ovoeereerreerieieneeseiense e (2]
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